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Rajasthan Public Service Commission ­ 2016

Paper : Economic Admn And Finance Management­II
Ques: 150
Time: 3 Hours

Ques # :1

Which function is not included in quantitative methods of credit control by Reserv Bank of India ?
1) Bank Rate
2) Open market operations
3) Rationing of Credit
4) Change in cash reserve ratio

भारतीय रज़व絿狁 ब軂ምक क㖺䝼 साख 땍渷नयᖸൌण ꦜ煜व㲳滐धय鿳汙 मᗿ侫 ꡶圷कस काय絿狁 को शा︅ᐡमल नह㑃ዕ ं꡶圷कया गया ह ै?
1) ब軂ምक दर
2) खलु ेबाज़ार क㖺䝼 ꡶圷燔뮴याएं
3) साख क㖺䝼 राश땍渷नगं
4) नक़द कोष अनपुात मᗿ侫 परवत絿狁न

Ques # :2

Regional Rural Banks issued _____ for credit facilities to farmers.
1) Ration card
2) Debit card
3) Kishan credit card
4) PAN card

꡶圷कसान鿳汙 को साख सꦜ煜वधा के ︅ᐡलय े丹⒖ᖸൌीय �ꀥामीण ब軂ምक鿳汙 न े_____ 땍渷नग絿狁मन ꡶圷कया ह.ै
1) राशन काड絿狁
2) ड詬बट काड絿狁
3) ꡶圷कसान 燔뮴뉠휱डट काड絿狁
4) पने काड絿狁

Ques # :3

Which asstes will not be considered as NPA's recommended by Narsimham Committee ?
1) Standard
2) Sub ­ standard
3) Doubtful
4) Loss

नर︅ᐡसहंम स︅ᐡम땍渷त 厢倰वारा क㖺䝼 गयी ︅ᐡसफारश鿳汙 मᗿ侫 ꡶圷कन सपंि緇玱तय鿳汙 को गरै ­ 땍渷न娩響पादन सपंि緇玱तय鿳汙 के 窹㛀प मᗿ侫 माना गया है
­
1) ⴵ엍ट築ैꅨडड絿狁
2) उप ­ ⴵ엍ट築ैꅨडड絿狁
3) सदंहेाⴵ엍पद
4) हा땍渷न

Ques # :4

Present capital adequacy norms are followed by banks based on :
1) Reserve Bank of India Act
2) Banking Regulation Act
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3) Indian Company Act
4) Basel recommendations

ब軂ምक鿳汙 厢倰वारा वत絿狁मान पूँजी पया絿狁ᵤ�तता 땍渷नयम क㖺䝼 पालना _____ पर आधारत ह.ै
1) भारतीय रज़व絿狁 ब軂ምक अ㲳滐ध땍渷नयम
2) ब軂ም꡶圷कंग 땍渷नयम अ㲳滐ध땍渷नयम
3) भारतीय क贖증पनी अ㲳滐ध땍渷नयम
4) बासले 厢倰वारा अनशुꦜ煜षत

Ques # :5

Cost per transaction for bank is minimum by using :­
1) Telephone
2) ATM
3) Internet
4) Manual

______ का उपयोग करन ेपर ब軂ምक के ︅ᐡलय े얎땍渷त सौदा लागत ᄉऌयनूतम होती ह.ै
1) दरूभाष
2) ए ट㑃ዕ एम
3) इटंरनटे
4) मᄉेऌयअुल

Ques # :6

Authorized capital of Industrial Financial Corporation of India ( IFCI ) has been increasing in various steps
from 20 crores to :
1) Rs. 1000 crore
2) Rs. 1500 crore
3) Rs. 2500 crore
4) Rs. 5000 crore

भारतीय औ厢倰यो㲳滐गक ꦜ煜व緇玱त 땍渷नगम क㖺䝼 अ㲳滐धकृत पूँजी ꦜ煜व︅ᐡभᄉऌन चरण鿳汙 मᗿ侫 20 करोड़ स ेबढाकर _____ क㖺䝼 जा चकु㖺䝼 ह ै.
1) 望秚. 1000 करोड़
2) 望秚. 1500 करोड़
3) 望秚. 2500 करोड़
4) 望秚. 5000 करोड़

Ques # :7

Largest contributor regarding initial financial resources of Unit Trust of India is :­
1) Reserve Bank of India
2) Life Insurance Corporation of India
3) State Bank of India
4) Central Government

भारतीय य땍渷नट ❍�ⴵ엍ट के 얎ार︅ंᐡभक ꦜ煜व緇玱तीय ⴵ엍ᖸൌोत鿳汙 मᗿ侫 सबस ेबड़ा अशंदाता ह ै:
1) भारतीय रज़व絿狁 ब軂ምक
2) भारतीय जीवन बीमा 땍渷नगम
3) भारतीय ⴵ엍टटे ब軂ምक
4) केᄉऌ箨㑃ዕय सरकार
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Ques # :8

Headquarter of Small industrial Development Bank of India ( SIDBI ) is located in :
1) Patna
2) Lucknow
3) Bangaluru
4) Kolkata

भारतीय लघ ुउ厢倰योग ꦜ煜वकास ब軂ምक का म밆콟यालय _____ मᗿ侫 िⴵ엍थत ह.ै
1) पटना
2) लखनऊ
3) बᗿ侫गल望秚
4) कोलक緇玱ता

Ques # :9

' Capital adequacy ' is a great challenge before banks because :
1) Public sector banks hesitate to tap market.
2) Bank customers are not interested
3) Non ­ cooperation of top management of banks
4) Bank reform is not allowing to do it

' पूँजी पया絿狁ᵤ�तता ' ब軂ምक鿳汙 के सम丹⒖ एक ꦜ煜वशाल चनुौती ह ै腳럿य鿳汙꡶圷क ­
1) साव絿狁जा땍渷नक ब軂ምक बाज़ार को भनुान ेमᗿ侫 鰋沽हचक रखत ेहै
2) ब軂ምक �ꀥाहक鿳汙 क㖺䝼 窹㛀㲳滐च नह㑃ዕ ंहै
3) ब軂ምक鿳汙 के उ⹻ฮच 얎बधं का असहयोग
4) ब軂ምक सधुार ऐसा करन ेक㖺䝼 अनमु땍渷त नह㑃ዕ ंदतेे

Ques # :10

New product launching in the market is a big challenge before banks because :­
1) Customer is not ready to accept new product
2) Competition amongst various financial institutions
3) Reserve Bank of India discourage to launch new product
4) Government policy is not allowing it

बाज़ार मᗿ侫 नए उ緇玱पाद को उतारना ब軂ምक鿳汙 के सम丹⒖ एक बड़ी चनुौती ह ै腳럿य鿳汙꡶圷क ­
1) बाज़ार नए उ緇玱पाद को ⴵ엍वीकार करन ेके ︅ᐡलय ेतयैार नह㑃ዕ ंहै
2) ꦜ煜व︅ᐡभᄉऌन ꦜ煜व緇玱तीय सⴵ엍थान鿳汙 के म㉎쎀य 얎땍渷तयो㲳滐गता
3) भारतीय रज़व絿狁 ब軂ምक नए उ緇玱पाद को बाज़ार मᗿ侫 उतारन ेको हतो緇玱सा鰋沽हत करता है
4) सरकार㑃ዕ नी땍渷त ऐसा करन ेक㖺䝼 अनमु땍渷त नह㑃ዕ ंदतेी

Ques # :11

Implementation of charter of customer rights is a challenge before banks because :­
1) Most of the banks customer are illeterate
2) Customers dislike it
3) Treating customer fairly is moto of banking
4) Customers are not facing any problems

उपभो腳럿ता अ㲳滐धकार चाट絿狁र लाग ूकरना ब軂ምक鿳汙 के सम丹⒖ चनुौती ह ै腳럿य鿳汙꡶圷क :­
1) अ㲳滐धकाशं ब軂ምक �ꀥाहक अ︅ᐡश峮쵞丹⒖त है
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2) �ꀥाहक नापसदं करत ेहै
3) उपभो腳럿ताओ ंके साथ अ⹻ฮछा 彷ꭢयवहार ब軂ምक鿳汙 का उ⃒넕痵䆁य है
4) उपभो腳럿ता ꡶圷कसी तरह क㖺䝼 समⴵ엍या का सामना नह㑃ዕ ंकरत ेहै

Ques # :12

In Basle committee recommendations, one of the recommendation relates to :­
1) Profitability ratio
2) Capital adequacy ratio
3) Activity ratio
4) Assets ­ Liabilities ratio

बासल ेस︅ᐡम땍渷त क㖺䝼 ︅ᐡसफारश鿳汙 मᗿ侫, एक ︅ᐡसफारश स贖증ब㲳滐धत ह ै­
1) लाभदायक अनपुात
2) पूँजी पया絿狁ᵤ�तता अनपुात
3) स꡶圷燔뮴यता अनपुात
4) सपं땍渷त ­ दा땍渷य緇玱व अनपुात

Ques # :13

Foreign Direct Investment has been allowed in private sector banks upto :
1) 49 %
2) 35 %
3) 39 %
4) 10 %

땍渷नजी ब軂ምक鿳汙 मᗿ侫 ꦜ煜वदशेी 얎緇玱य丹⒖ ꦜ煜व땍渷नयोग क㖺䝼 अनमु땍渷त _____ तक द㑃ዕ जा चकु㖺䝼 ह ै­
1)  49 %
2)  35 %
3)  39 %
4)  10 %

Ques # :14

An investment made by multinational corporation to increase its international business is :­
1) Foreign Institutional Investment
2) International Finance Investment
3) Foreign Direct Investment
4) Capital Market Investment

बहरुा娩響❍�㑃ዕय 땍渷नगम 厢倰वारा पान ेअतंरा絿狁娩響❍�㑃ዕय 彷ꭢयवसाय मᗿ侫 वꦜ煜䍚 करन ेके ︅ᐡलय े꡶圷कया गया ꦜ煜व땍渷नयोग ह ै­
1) ꦜ煜वदशेी सⴵ엍थान ꦜ煜व땍渷नयोग
2) अतंरा絿狁娩響❍�㑃ዕय ꦜ煜व땍渷नयोग
3) 얎緇玱य丹⒖ ꦜ煜वदशेी ꦜ煜व땍渷नयोग
4) पूँजी बाज़ार ꦜ煜व땍渷नयोग

Ques # :15

The country that attracted the largest foreign direct investment inflows was _____ in 2001.
1) Hong Kong
2) China
3) Singapore
4) India
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वह दशे िजसन ेवष絿狁 2001 मᗿ侫 सवा絿狁㲳滐धक ꦜ煜वदशेी 얎緇玱य丹⒖ ꦜ煜व땍渷नयोग अतंवा絿狁ह आकꦜ煜ष絿狁त ꡶圷कया ह ै­
1) हागंकागं
2) चीन
3) ︅ᐡसगंापरू
4) भारत

Ques # :16

_______ are the receipts issued by the depository against the shares issued by an Indian or any other foreign
firm and that are deposited with the depository.
1) American Deposit Receipts
2) Global Deposit Receipts
3) Euro Deposit Receipts
4) Special Drawing Rights

_____ ऐसी रसीदᗿ侫 ह ैजो 땍渷न丹⒖पेी 厢倰वारा ꡶圷कसी भारतीय या अᄉऌय कोई ꦜ煜वदशेी फम絿狁 厢倰वारा 땍渷नग絿狁︅ᐡमत अशं鿳汙 के ꦜ煜व望秚䍚
땍渷नग絿狁︅ᐡमत क㖺䝼 जाती ह ैऔर व े땍渷न丹⒖पेी के पास जमा रहती ह.ै
1) अमेरक㖺䝼 땍渷न丹⒖पेी रसीदᗿ侫
2) विै痵䆁वक 땍渷न丹⒖पेी रसीदᗿ侫
3) यरूो 땍渷न丹⒖पेी रसीदᗿ侫
4) ꦜ煜वशषे आहरण अ㲳滐धकार

Ques # :17

The Balance of payment statement consists of ______ accounts.
1) 2
2) 3
3) 4
4) 5

भगुतान सतंलुन ꦜ煜ववरण _____ खत鿳汙 स े︅ᐡमलकर बनता ह.ै
1)  2
2)  3
3)  4
4)  5

Ques # :18

The World Trade Organization was formed in the year _____ with GATT as its basis.
1) 1993
2) 1994
3) 1995
4) 1996

ꦜ煜व痵䆁व 彷ꭢयापार सगंठन का वष絿狁 ____ मᗿ侫 गटे के आधार के 窹㛀प मᗿ侫 गठन ꡶圷कया गया.
1) 1993
2) 1994
3) 1995
4) 1996

Ques # :19

Any foregin institutional investor wants to invest in India should get registered in :­
1) Securities & Exchange Board of India
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2) Reserve Bank of India
3) Government of India
4) Ministry of Finance

कोई ꦜ煜वदशेी सⴵ엍थागत ꦜ煜व땍渷नयो腳럿ता भारत मᗿ侫 ꦜ煜व땍渷नयोग करना चाहता ह,ै उस े____ मᗿ侫 पजंीकृत होना होगा.
1) भारतीय 얎땍渷तभ땍渷त व ꦜ煜व땍渷नयोग म築ꅨडल
2) भारतीय रज़व絿狁 ब軂ምक
3) केᄉऌ箨㑃ዕय सरकार
4) ꦜ煜व緇玱त मᖸൌालय

Ques # :20

Accounting unit of IMF is :
1) GDRs
2) SDRs
3) ADRs
4) EDRs

अतंरा絿狁娩響❍�㑃ዕय म箨ा कोष क㖺䝼 लखेाकंन इकाई है
1) जी डी आर
2) एस डी आर
3) ए डी आर
4) ई डी आर

Ques # :21

Member of International Monetory Fund contributes quota subscription for : (A) Determine voting power (B)
Determine SDRs (C) Form a pool of money Select the correct answer using the codes given below :
1) (A) only
2) (B) only
3) (A) and (B)
4) (A), (B)and (C)

अतंरा絿狁娩響❍�㑃ዕय म箨ा कोष के सदⴵ엍य _____ के ︅ᐡलए का अशंदान करत ेह.ै (अ) मतदान शि腳럿त 땍渷नधा絿狁रण (ब) ꦜ煜वशषे
आहरण अ㲳滐धकार 땍渷नधा絿狁रण (स) म箨ा का गठन नीच े鰋沽दए हएु कूट鿳汙 का 얎योग करत ेहएु सह㑃ዕ उ緇玱तर का चयन क㖺䝼िजये
:
1) (अ) केवल
2) (ब) केवल
3) (अ) और (ब)
4) (अ), (ब) और (स)

Ques # :22

______ is not a function of World Bank.
1) Exchange stability
2) Lending
3) Guarantee
4) Technical assistance

ꦜ煜व痵䆁व ब軂ምक का काय絿狁 नह㑃ዕ ंह ै­
1) ꦜ煜व땍渷नमय िⴵ엍थरता
2) उधार दनेा
3) 
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गारटं㑃ዕ दनेा
4) तकनीक㖺䝼 सहायता

Ques # :23

International Bank for Reconstruction and Development is called as :
1) Asian Development Bank
2) World Bank
3) International Monitory Fund
4) International Development Association

अतंरा絿狁娩響❍�㑃ዕय पनु땍渷न絿狁मा絿狁ण व ꦜ煜वकास ब軂ምक को _____ के 窹㛀प मᗿ侫 पकुारा जाता ह.ै
1) ए︅ᐡशयन ꦜ煜वकास ब軂ምक
2) ꦜ煜व痵䆁व ब軂ምक
3) अतंरा絿狁娩響❍�㑃ዕय म箨ा कोष
4) अतंरा絿狁娩響❍�㑃ዕय ꦜ煜वकास परष厢倰

Ques # :24

Main financial resources of Asian Development Bank are : (A) Share capital (B) Loan (C) Special Fund Select
the correct answer using the codes given below :
1) (A) only
2) (B) only
3) (A), (B) and (C)
4) (A) and (B)

ए︅ᐡशयन ꦜ煜वकास ब軂ምक के म밆콟य ꦜ煜व緇玱तीय ⴵ엍ᖸൌोत ह ै­ (अ) अशं पूँजी (ब) ऋण (स) ꦜ煜वशषे कोष नीच े鰋沽दए हएु कूट鿳汙 का
얎योग करत ेहएु सह㑃ዕ उ緇玱तर का चयन क㖺䝼िजय े:
1) (अ) केवल
2) (ब) केवल
3) (अ), (ब) और (स)
4) (अ) और (ब)

Ques # :25

Export ­ Import Bank of India was set up for the purpose of _____ foreign trade. (A) Financing (B)
Facilitating (C) Promoting Select the correct answer using the codes given below :
1) (C) only
2) (B) and (C)
3) (A) and (C)
4) (A), (B) and (C)

भारत का 땍渷नया絿狁त ­ आयात ब軂ምक ꦜ煜वदशेी 彷ꭢयापार के _____ के उ⃒넕痵䆁य हते ुग鰋沽ठत ꡶圷कया गया. (अ) ꦜ煜व緇玱त पोषण (ब)
सꦜ煜वधाए ँ얎दान करन े(स) सवंध絿狁न करन ेनीच े鰋沽दए हएु कूट鿳汙 का 얎योग करत ेहएु सह㑃ዕ उ緇玱तर का चयन क㖺䝼िजय े:
1) (स) केवल
2) (ब) और (स)
3) (अ) और (स)
4) (अ), (ब) और (स)

Ques # :26

The risk which is not covered by Export Credit and Guarantee Corporation of India :
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1) Insolvency of importer
2) Loss due to change in exchange rate
3) Stop payment due to war
4) Refusal of taking delivery

भारत का 땍渷नया絿狁त साख व गारटं㑃ዕ 땍渷नगम ꡶圷कस जो뺼鏟खम स ेसरु丹⒖ा 얎दान नह㑃ዕ ंकरता ­
1) आयातक का 鰋沽दवा︅ᐡलया होना
2) ꦜ煜व땍渷नमय दर मᗿ侫 परवत絿狁न स ेहा땍渷न
3) य䍚 के कारण भगुतान रोकना
4) सपुदु絿狁गी लने ेस ेमनाह㑃ዕ

Ques # :27

Hedging techniques are risk management tools cosits of : (A) Forward contract (B) Future Contract (C)
SWAPS Select the correct answer using the codes given below :
1) (B) and (C)
2) (A) and (B)
3) (A) and (C)
4) (A), (B) and (C)

सरु丹⒖ा緇玱मक 彷ꭢयवⴵ엍था तकनीकᗿ侫 जो뺼鏟खम 얎बधं उपकरण ह ैजो ︅ᐡमलकर बनता ह ै­ (अ) अ㲳滐�ꀥम अनबुधं (ब) भावी
अनबुधं (स) ⴵ엍वपे नीच े鰋沽दए हएु कूट鿳汙 का 얎योग करत ेहएु सह㑃ዕ उ緇玱तर का चयन क㖺䝼िजय े:
1) (ब) और (स)
2) (अ) और (ब)
3) (अ) और (स)
4) (अ), (ब) और (स)

Ques # :28

A SWAP transaction is a combination of :
1) Spot and forward
2) Forward and future
3) SWAP and spot
4) SWAP and forward

एक ⴵ엍वपे सौद鿳汙 का सयंोग ह ै­
1) हािजर एव ंअ㲳滐�ꀥम
2) अ㲳滐�ꀥम एव ंभावी
3) ⴵ엍वपे एव ंहािजर
4) ⴵ엍वपे एव ंअ㲳滐�ꀥम

Ques # :29

Exposure is defined as change in the : (A) Value of assets (B) Liabilities (C) Income or expenses Select the
correct answer using the codes given below :
1) (C) only
2) (A) and (C)
3) (A), (B) and (C)
4) (B) and (C)

जो뺼鏟खम _____ मᗿ侫 परवत絿狁न के 窹㛀प मᗿ侫 परभाꦜ煜षत ह ै­ (अ) सपंि緇玱तय鿳汙 का म拞य (ब) दा땍渷य緇玱व (स) आय व खच絿狁 नीचे
鰋沽दए हएु कूट鿳汙 का 얎योग करत ेहएु सह㑃ዕ उ緇玱तर का चयन क㖺䝼िजय े:
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1) (स) केवल
2) (अ) और (स)
3) (अ), (ब) और (स)
4) (ब) और (स)

Ques # :30

For trade, travel, tourism and education to abroad rupee is :
1) Partial convertibility for current account
2) Fully convertibility for current account
3) Partial convertibility for capital account
4) Fully convertibility for capital account

बाहर㑃ዕ 彷ꭢयापर, याᖸൌा, पय絿狁टन व ︅ᐡश丹⒖ा हते ु望秚पया _____ ह.ै
1) चाल ूखात ेके ︅ᐡलए आ︅ᐡशक परवत絿狁नीयता
2) चाल ूखात ेके ︅ᐡलय ेपणू絿狁 परवत絿狁नीयता
3) पूँजी खात ेके ︅ᐡलए आ︅ᐡशक परवत絿狁नीयता
4) पूँजी खात ेके ︅ᐡलय ेपणू絿狁 परवत絿狁नीयता

Ques # :31

The main service functions of primary market are : (A) Origination (B) Underwriting (C) Distribution Select
the correct answer using the codes given below :
1) (A) and (B)
2) (B) and (C)
3) (A) and (C)
4) (A), (B) and (C)

얎ाथ︅ᐡमक बाज़ार के म밆콟य सवेा काय絿狁 ह ै­ (अ) उ膳럟वन (ब) अ︅ᐡभगोपन (स) ꦜ煜वतरण नीच े鰋沽दए हएु कूट鿳汙 का 얎योग करते
हएु सह㑃ዕ उ緇玱तर का चयन क㖺䝼िजय े:
1) (अ) और (ब)
2) (ब) और (स)
3) (अ) और (स)
4) (अ), (ब) और (स)

Ques # :32

The public issue programme manage by :
1) Promoters
2) Lead Managers
3) Advertising Agent
4) SEBI

साव絿狁ज땍渷नक 땍渷नग絿狁मन काय絿狁燔뮴म का 얎बधं _____ के 厢倰वारा ꡶圷कया जाता ह.ै
1) 얎वत絿狁क
2) अ�ꀥणी 얎बधंक
3) ꦜ煜वꮚ齃ापन अ︅ᐡभकता絿狁
4) सबेी

Ques # :33

Which one credit rating agency in India won prestigious award :
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1) ICAR
2) CARE
3) CRISIL
4) ONICRA

भारत मᗿ侫 ꡶圷कस साख म拞याकंन एजᗿ侫सी न े얎땍渷ति娩響ठत परुⴵ엍कार जीता ?
1) आई सी आर ए (इकरा)
2) सी ए आर ई (केयर)
3) सी आर आई एस आई एल (꡶圷燔뮴︅ᐡसल)
4) ओ एन आई सी आर ए (ओ땍渷नकरा)

Ques # :34

Who manages for the issue of Central Government Securities ?
1) Central Government
2) Reserve Bank of India
3) Ministry of Finance
4) Ministry of Company Affairs

केᄉऌ箨㑃ዕय सरकार㑃ዕ 얎땍渷तभ땍渷तय鿳汙 के 땍渷नग絿狁मन का 얎बधं कौन करता ह ै?
1) कᗿ侫箨 सरकार
2) भारतीय रज़व絿狁 ब軂ምक
3) ꦜ煜व緇玱त मᖸൌालय
4) कंपनी मामल鿳汙 का मᖸൌालय

Ques # :35

Merchant Banks are not playing development role in : (A) Technical aspects (B) Managerial aspects (C)
Enterpreneurial aspects Select the correct answer using the codes given below :
1) (A), (B) and (C)
2) (B) and (C)
3) (A) and (B)
4) (A) and (C)

मच璕ꨗᄉऌट ब軂ምक _____ मᗿ侫 ꦜ煜वकासा緇玱मक भ︅ᐡमका नह㑃ዕ ं땍渷नभा रह ेह ै­ (अ) तकनीक㖺䝼 पहल ू(ब) 얎बधंक㖺䝼य (स) उध︅ᐡमता
नीच े鰋沽दए हएु कूट鿳汙 का 얎योग करत ेहएु सह㑃ዕ उ緇玱तर का चयन क㖺䝼िजय े:
1) (अ), (ब) और (स)
2) (ब) और (स)
3) (अ) और (ब)
4) (अ) और (स)

Ques # :36

Highly Liquid security remains in :
1) Shares
2) Mutual fund units
3) Commercial papers
4) Treasury bills

उ⹻ฮच तरल 얎땍渷तभ땍渷त ह ै:
1) अशं
2) 
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पारⴵ엍परक कोष इकाई
3) 彷ꭢयापारक पᖸൌ
4) कोषागार ꦜ煜वपᖸൌ

Ques # :37

Deciding factor of measuring the systematic risk is :
1) Theta
2) Beta
3) Gamma
4) Delta

_____, 彷ꭢयविⴵ엍थत जो뺼鏟खम के मापन का 땍渷नणा絿狁यक घटक ह ै:
1)  थीटा
2)  बीटा
3)  गामा
4)  ड拞टा

Ques # :38

According to Arbitrage Pricing Theory, an investorwould try to increase returns from his portfolio :
1) By reducing the risk
2) Without changing the portfolio
3) By increasing the portfolio
4) By increasing the risk

ꦜ煜ववाकधीन क㖺䝼मत 땍渷नधा絿狁रण ︅ᐡस䍚ातं के अनसुार एक ꦜ煜व땍渷नयोजक उसके पोट絿狁फो︅ᐡलयो स े얎緇玱याय वꦜ煜䍚 का 얎यास
करगेा ­
1) जो뺼鏟खम को कम करत ेहएु
2) पोट絿狁फो︅ᐡलयो मᗿ侫 詬बना परवत絿狁न के
3) पोट絿狁फो︅ᐡलयो कोष मᗿ侫 वꦜ煜䍚 करत ेहएु
4) जो뺼鏟खम को बढात ेहएु

Ques # :39

Mutual Funds in India are regularized by SEBI for safeguard of :
1) Trustee
2) Sponsor
3) Asset Management Company
4) Investors

भारत मᗿ侫 सबेी 厢倰वारा पारⴵ엍परक कोष鿳汙 का 땍渷नयमन क㖺䝼 सरु丹⒖ा 얎हर㑃ዕ के 窹㛀प मᗿ侫 ꡶圷कया जाता ह­ै
1) 얎ᄉऌयासी
2) 얎ायोजक
3) सपंि緇玱त 얎बधं क贖증पनी
4) ꦜ煜व땍渷नयोजक

Ques # :40

Investor Protection and Education Fund is created by :
1) Central Government
2) Reserve Bank of India
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3) SEBI
4) Ministry of Commerce

ꦜ煜व땍渷नयोजक सरं丹⒖ण तथा ︅ᐡश丹⒖ा कोष को _____ के 厢倰वारा सिृजत ꡶圷कया गया ­
1) कᗿ侫箨 सरकार
2) भारतीय रज़व絿狁 ब軂ምक
3) सबेी
4) वा뺼鏟ण�य मᖸൌालय

Ques # :41

The Ministry of Corporate Affairs provides wide range of services like : (A) Investor helpline (B) Watch out
investors (C) Portal for public grievances (D) Investor awareness programme Which is correct of the above ?
1) A
2) B
3) C
4) D

땍渷नगम मामलात मᖸൌालय ꦜ煜व땍渷नयोजक鿳汙 के ︅ᐡलए ꦜ煜व︅ᐡभᄉऌन तरह क㖺䝼 सवेाए ं얎दान करता ह,ै जसै े­ (A) ꦜ煜व땍渷नयोजक
हे拞पलाइन (B) ꦜ煜व땍渷नयोजक क㖺䝼 땍渷नगरानी (C) जन परवदेना पोट絿狁ल (D) ꦜ煜व땍渷नयोजक जाग窹㛀कता काय絿狁燔뮴म उपरो腳럿त
मᗿ侫 स ेकौनसा सह㑃ዕ ह ै?
1)  A
2)  B
3)  C
4)  D

Ques # :42

As capital market regulator, the SEBI has been making tremendous effort towards: (A) Investor Protection
(B) Capital market development (C) Policy formulation Select the correct answer using the codes given below
:
1) (A) only
2) (B) only
3) (A) and (B)
4) (A), (B) and (C)

सबेी 厢倰वारा पूँजी बाज़ार 땍渷नयामक के 窹㛀प मᗿ侫 _____ के शानदार 얎यास ꡶圷कय ेजा रह ेह ै­ (अ) ꦜ煜व땍渷नयोजक सरं丹⒖ण (ब)
पूँजी बाजार ꦜ煜वकास (स) नी땍渷त 땍渷नमा絿狁ण नीच े鰋沽दए हएु कूट鿳汙 का 얎योग करत ेहएु सह㑃ዕ उ緇玱तर का चयन क㖺䝼िजय े:
1) (अ) केवल
2) (ब) केवल
3) (अ) और (ब)
4) (अ), (ब) और (स)

Ques # :43

The headquarter of the Securities and Exchange Board of India (SEBI) is in :
1) Chennai
2) Delhi
3) Mumbai
4) Kolkata

भारतीय 얎땍渷तभ땍渷त एव ंꦜ煜व땍渷नमय बोड絿狁 का म밆콟यालय ह ै­
1) चᄉेऌनई
2) 鰋沽द拞ल㑃ዕ
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3) मुंबई
4) कोलक緇玱ता

Ques # :44

The SEBI is not empowered for :
1) Stock exchange regulation
2) Stcok brokers regulation
3) Investor protection
4) Payment and settlement

सबेी को शि腳럿तया ँ얎ाᵤ�त नह㑃ዕ ंह ै­
1) ⴵ엍कंध ꦜ煜व땍渷नमय 땍渷नयमन
2) ⴵ엍कंध दलाल 땍渷नयमन
3) ꦜ煜व땍渷नमय सरं丹⒖ण
4) भगुतान व समझौता

Ques # :45

Capital budget defines as the firm's decision to invest in the ______ asstes.
1) Very short ­ term
2) Short ­ term
3) Medium ­ term
4) Long ­ term

पूँजी बजट ꡶圷कसी फम絿狁 के ______ सपंि緇玱तय鿳汙 मᗿ侫 ꦜ煜व땍渷नयोग को परभाꦜ煜षत करता ह ै­
1) अ땍渷त अ拞पकाल㑃ዕन
2) अ拞पकाल㑃ዕन
3) म㉎쎀यकाल㑃ዕन
4) द㑃ዕघ絿狁काल㑃ዕन

Ques # :46

A flexible budget is necessary for a business enterprises whose demand for goods is ______ . (A) Stable (B)
Unstable (C) Seasonal Select the correct answer using the codes given below :
1) (A) only
2) (B) only
3) (A) and (B)
4) (B) and (C)

एक 彷ꭢयावसा땍渷यक उप燔뮴म िजसके वⴵ엍तओु ंक㖺䝼 मागं _____ ह,ै उसके ︅ᐡलए एक लोचशील बजट आव痵䆁यक ह ै­ (अ)
िⴵ엍थर (ब) अिⴵ엍थर (स) मौसमी नीच े鰋沽दए हएु कूट鿳汙 का 얎योग करत ेहएु सह㑃ዕ उ緇玱तर का चयन क㖺䝼िजय े:
1) (अ) केवल
2) (ब) केवल
3) (अ) और (ब)
4) (ब) और (स)

Ques # :47

Estimated expenditure on Man Power planning at different levels is called :
1) Labour budget
2) Human resource budget
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3) Union budget
4) Master budget

ꦜ煜व︅ᐡभᄉऌन ⴵ엍तर鿳汙 पर मानव शि腳럿त के 땍渷नयोजन पर होन ेवाल ेअनमुा땍渷नत 彷ꭢयय को कहा जाता ह ै:
1) 絷泥म बजट
2) मानव ससंाधन बजट
3) 絷泥म सघं बजट
4) माⴵ엍टर बजट

Ques # :48

Factor does not influence the size of working capital :
1) Business Cycle
2) Growth and Expansion
3) Nature of Business
4) Dividend policy

काय絿狁शील पूँजी के आकार को 얎भाꦜ煜वत नह㑃ዕ ंकरन ेवाला घटक ह ै:
1) 彷ꭢयापार च燔뮴
2) वꦜ煜䍚 व ꦜ煜वⴵ엍तार
3) 彷ꭢयवसाय क㖺䝼 얎कृ땍渷त
4) लाभाशं नी땍渷त

Ques # :49

The impact of changes in sales on operating profit shows :
1) Financial leverage
2) Operating leverage
3) Combined leverage
4) Optimum Capital structure

परचा︅ᐡलत लाभ पर ꦜ煜व燔뮴य मᗿ侫 परवत絿狁न का 얎भाव दशा絿狁ता ह ै:
1) ꦜ煜व緇玱तीय उ緇玱तोलक
2) परचालन उ緇玱तोलक
3) सयं腳럿त उ緇玱तोलक
4) अनकुूलतम उ緇玱तोलक

Ques # :50

If financial leverage is 2, fixed interest charges Rs. 1,00,000. Operation profit would be :­
1) 3,00,000
2) 4,00,000
3) 2,00,000
4) 1,00,000

य鰋沽द ꦜ煜व緇玱तीय उ緇玱तोलक 2 तथा ⴵ엍थायी 邧ﾆयाज का खच絿狁 1,00,000 望秚. ह.ै परचालन लाभ होगा :
1) 3,00,000
2) 4,00,000
3) 2,00,000
4) 1,00,000

Ques # :51
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Formula for calculating Acid ­ Test Ratio is :
1) Current Assets / Current Liabilities
2) Quick Assets / Quick Liabilities
3) Current Assets / Quick Liabilities
4) Quick Assets / Current Liabilities

अ贖증ल ­ परख अनपुात का सᖸൌ ह ै­
1) चाल ूसपंि緇玱तया ं/ चाल ूदा땍渷य緇玱व
2) 緇玱वरत सपंि緇玱तया ं/ 緇玱वरत दा땍渷य緇玱व
3) चाल ूसपंि緇玱तया ं/ 緇玱वरत दा땍渷य緇玱व
4) 緇玱वरत सपंि緇玱तया ं/ चाल ूदा땍渷य緇玱व

Ques # :52

Which is not acivity ratio :
1) Sales / Inventories
2) Net Profit / Sales
3) Sales / Trade debtors
4) Purchase / Creditors

कौनसा स꡶圷燔뮴यता अनपुात नह㑃ዕ ंह ै:
1) ꦜ煜व燔뮴य / ⴵ엍कंध
2) श䍚 लाभ / ꦜ煜व燔뮴य
3) ꦜ煜व燔뮴य / 彷ꭢयापारक दनेदार
4) 燔뮴य / लनेदार

Ques # :53

Debt ­ Equity ratio is a :
1) Liquidity ratio
2) Leverage ratio
3) Profitable ratio
4) Activity ratio

ऋण ­ समता अनपुात ह ै:
1) तरलता अनपुात
2) उ緇玱तोलक अनपुात
3) लाभदायक अनपुात
4) स꡶圷燔뮴यता अनपुात

Ques # :54

Current Asstes Turnover Ratio is included in :
1) Activity ratio
2) Profitable ratio
3) Liquidity ratio
4) Leverage ratio

चाल ूसपंि緇玱त आवत絿狁 अनपुात _____ मᗿ侫 शा︅ᐡमल ︅ᐡलया जाता ह.ै
1) स꡶圷燔뮴यता अनपुात
2) लाभदायक अनपुात
3) तरलता अनपुात
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4) उ緇玱तोलक अनपुात

Ques # :55

Increase is fixed assets due to purchase is a :
1) Sources of funds
2) Uses of funds
3) Sources and Uses of funds both
4) Capital gain

燔뮴य के कारण ⴵ엍थायी सपंि緇玱तय鿳汙 मᗿ侫 वꦜ煜䍚 _____ ह.ै
1) कोष के ⴵ엍ᖸൌोत
2) कोष के उपयोग
3) कोष के ⴵ엍ᖸൌोत व उपयोग दोन鿳汙
4) पूँजी लाभ

Ques # :56

Owner of retained earning is :
1) Equity shareholders
2) Preference shareholders
3) Debenture holders
4) Bond holders

얎땍渷तधारत आय के ⴵ엍वामी ह ै:
1) समता अशंधार㑃ዕ
2) पवूा絿狁㲳滐धकार अशंधार㑃ዕ
3) ऋण ­ पᖸൌ धारक
4) बाडं धारक

Ques # :57

Confidence among shareholder remains due to :
1) Liberal dividend policy
2) Conservative dividend policy
3) Stable dividend policy
4) Interim dividend policy

अशंधारक鿳汙 मᗿ侫 ꦜ煜व痵䆁वास रहता ह ै_____ स े­
1) उदार लाभाशं नी땍渷त
2) कठोर लाभाशं नी땍渷त
3) िⴵ엍थर लाभाशं नी땍渷त
4) अतंरम लाभाशं नी땍渷त

Ques # :58

The term ' Regression ' was first used by :
1) Sir Fransis Galton
2) Goode and Half
3) P V Young
4) Morris Hamberg

' 얎तीपगमन ' श邧ﾆद का 얎योग 얎थम बार _____ के  वारा ︅ᐡलया गया :
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1) सर محي俖ा︅ᐡसस गा拞टन
2) गोड ेएव ंहाफ
3) पी. वी. यगं
4) मोरस ह贖े증बग絿狁

Ques # :59

In any distribution the success and failure does not ramian constant, that distribution can not be :
1) Binomial
2) Poisson
3) Normal
4) Gaussian

꡶圷कसी भी ꦜ煜वतरण मᗿ侫 सफलता एव ंअसफलता िⴵ엍थर नह㑃ዕ ंरहत ेह,ै वह _____ नह㑃ዕ ंहो सकता.
1) बाइनो︅ᐡमअल
2) पॉयसन
3) सामाᄉऌय
4) गौ︅ᐡसयन

Ques # :60

Number of accidents met by a taxi driver in a year. The ____ distribution is applicable.
1) Binomial
2) Poisson
3) Normal
4) Gaussian

दघु絿狁टनाओ ंक㖺䝼 स밆콟या जो ꡶圷कसी एक वष絿狁 मᗿ侫 ट腳ै럿सी �骮ाइवर 厢倰वारा घ鰋沽टत हो जाती ह,ै _____ बटंन लाग ूहोता ह.ै
1) बाइनो︅ᐡमअल
2) पॉयसन
3) सामाᄉऌय
4) गौ︅ᐡसयन

Ques # :61

Each and every unit of the population has an equal chance of being selected in case of :
1) Purposive method
2) Mixed method
3) Random method
4) Self Selected

______ िⴵ엍थ땍渷त मᗿ侫 समि娩響ट क㖺䝼 얎緇玱यके इकाई के चयन होन ेक㖺䝼 सभंावना बराबर होती ह ै­
1) उ⃒넕痵䆁यपरक
2) ︅ᐡम㲳滐絷泥त
3) या箼㋌ि⹻ฮछक
4) ⴵ엍वय ं厢倰वारा चय땍渷नत

Ques # :62

A drop of blood is an example of :
1) Random sample
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2) Extensive sample
3) Area sample
4) Quota sample

खनू क㖺䝼 एक बूंद _____ का एक उदाहरण ह ै­
1) या箼㋌ि⹻ฮछक 얎땍渷तचयन
2) गहन 얎땍渷तचयन
3) 丹⒖ᖸൌ 얎땍渷तचयन
4) अ尕ﾐयशं 얎땍渷तचयन

Ques # :63

" The hypothesis is a proposition which can be put to test to determine validity" , defined by :
1) Lundberg
2) Goode and Half
3) P. V. Young
4) Morris Hamberg

" परक拞पना एक कथन ह ैजो वधैता के 땍渷नधा絿狁रण क㖺䝼 आनपुा땍渷तक जाचं के 窹㛀प मᗿ侫 परभाꦜ煜षत ꡶圷कया गया ह ै" ­
1) लुंडबग絿狁
2) गोड ेएव ंहाटे
3) पी वी यगं
4) मोरस ह贖े증बग絿狁

Ques # :64

The error refers to the rejection of a null hypothesis when it is true is symbolized by :
1) Alfa
2) Beta
3) Gamma
4) Theta

वह ᖸൌ鰋沽ट जो शᄉऌय परक拞पना को जब वह सह㑃ዕ ह,ै को ⴵ엍वीकार करन ेक㖺䝼 ओर इ㲳ं滐गत करता ह,ै उस े_____ 㲳滐चᄉऌह
厢倰वारा 彷ꭢय腳럿त ꡶圷कया जाता ह.ै
1)  अ拞फ़ा
2)  बीटा
3)  गामा
4)  थीटा

Ques # :65

In ANOVA table variance ratio is stated as ­
1) F
2) T
3) Z
4) X

अनोवा ता︅ᐡलका मᗿ侫 ꦜ煜वचरण अनपुात _____ के 窹㛀प मᗿ侫 彷ꭢय腳럿त ꡶圷कया जाता ह ै:
1) एफ
2) ट㑃ዕ
3) जडे
4) काई
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Ques # :66

The method in which the given data are plotted on a graph paper is called :
1) Parabolic curve method
2) Newton's method
3) Graphic method
4) Langrang's method

वह ꦜ煜व㲳滐ध िजसम े鰋沽दए गए समकंो का �ꀥाफ पपेर पर आलखेन ꡶圷कया जाता ह ै:
1) परवल땍渷यक व燔뮴 ꦜ煜व㲳滐ध
2) ᄉऌयटून ꦜ煜व㲳滐ध
3) �ꀥा꡶圷फक ꦜ煜व㲳滐ध
4) लᗿ侫�ꀥजे ꦜ煜व㲳滐ध

Ques # :67

The linear programming suggests the selection of the _____ possible combination of production to get
maximum profit.
1) Good
2) Better
3) Best
4) Reasonable

रखेीय 얎ो�ꀥामन अ㲳滐धकतम लाभ हते ुउ緇玱पादन के _____ सभंा彷ꭢय सयंोग के चयन का सझुाव दतेा ह ै:
1) 絷泥娩े響ठ
2) 絷泥娩े響ठतर
3) 絷泥娩े響ठतम
4) उ㲳滐चत

Ques # :68

Graphic method of linear programming is suitable in case of _____ variable only.
1) 2
2) 3
3) 4
4) 5

रखेीय 얎ो�ꀥामन क㖺䝼 रखेा ­ 㲳滐चᖸൌ ꦜ煜व㲳滐ध उस िⴵ엍थ땍渷त मᗿ侫 उ㲳滐चत ह ैजब चर鿳汙 क㖺䝼 स밆콟या केवल _____ ह.ै
1)  2
2)  3
3)  4
4)  5

Ques # :69

The number that exists at the intersection of the key column and key row of a simple table is known as :
1) Slack variable
2) Key number
3) Row number
4) Column number

︅ᐡसᵤ�ल腳े럿स ता︅ᐡलका मᗿ侫 मलू पिं腳럿त व मलू कॉलम के परⴵ엍परछदेन पर अ꡶圷कत स밆콟या को कहत ेह ै:
1) अ얎य腳럿त चर
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2) मलू स밆콟या
3) पिं腳럿त स밆콟या
4) कॉलम स밆콟या

Ques # :70

The sixplex method was originated by :
1) George B. Dantzig
2) James B. Dantzig
3) George B. Dante
4) George V Dantzig

︅ᐡस贖증पल腳े럿स ꦜ煜व㲳滐ध का उ膳럟वन _____ के 厢倰वारा ꡶圷कया गया ­
1) जाज絿狁 बी डᗿ侫टिजग
2) ज贖े증स बी डᗿ侫टिजग
3) जाज絿狁 बी दातंे
4) जाज絿狁 वी डᗿ侫टिजग

Ques # :71

A person or a unit coming to the counter of service centre for the purpose of getting specific serviced is called
:
1) Person
2) Consumer
3) Customer
4) Unit

एक 彷ꭢयि腳럿त या इकाई जो ꦜ煜व︅ᐡश娩響ट सवेा 얎ाᵤ�त करन ेके ︅ᐡलए सवेा कᗿ侫箨 पर आता ह,ै उस ेकहत ेह ै:
1) 彷ꭢयि腳럿त
2) उपभो腳럿ता
3) �ꀥाहक
4) इकाई

Ques # :72

Balking refers :
1) A customer decides not to join the queue due to much lenght queue
2) Leaving one queue and joining other queue
3) Customers remains in the queue
4) Customer waits in the queue for some time and then quits

' क鰋沽ठनाई ' स贖증ब㲳滐धत ह ै­
1) एक �ꀥाहक जो ल贖증बी कतार के कारण न जड़ुना तय करता है
2) एक कतार छोड़कर दसूर㑃ዕ कतार मᗿ侫 जड़ुता है
3) �ꀥाहक कतार मᗿ侫 बना रहता है
4) �ꀥाहक कतार मᗿ侫 कुछ समय के ︅ᐡलय े얎ती丹⒖ा करता ह ैऔर बाद मᗿ侫 छोड़ दतेा है

Ques # :73

Arrival rate denotes by :
1) Lamda
2) Mue
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3) Beta
4) Gama

आगात दर को _____ के 窹㛀प मᗿ侫 땍渷न鰋沽द絿狁娩響ट ꡶圷कया जाता ह ै­
1) ल贖े증डा
2) 贖증यू
3) बीटा
4) गामा

Ques # :74

Reneging refers :
1) A customer who waits in the queue for some time
2) A customer decides not to join the queue due to much length
3) A Customer who waits in the queue for some time and then quits
4) A Customer who does not like to join the queue

' इकंार करना ' इ㲳ं滐गत करता ह ै­
1) �ꀥाहक जो कुछ समय के ︅ᐡलए कतार मᗿ侫 얎ती丹⒖ा करता है
2) �ꀥाहक जो अ㲳滐धक ल贖증बी कतार के कारण कतार मᗿ侫 न जड़ुना तय करता है
3) �ꀥाहक कतार मᗿ侫 कुछ समय के ︅ᐡलय े얎ती丹⒖ा करता ह ैऔर बाद मᗿ侫 छोड़ दतेा है
4) �ꀥाहक जो कतार मᗿ侫 जड़ुना पसदं नह㑃ዕ ंकरता

Ques # :75

The technique which helps in minimizing total waiting and service cost is :
1) Probability
2) Linear Programming
3) Game theory
4) Queuing theroy

वह तकनीक जो कुछ 얎ती丹⒖ा समय व ्सवेा लागत को ᄉऌयनूतम करन ेमᗿ侫 मदद करती ह ै­
1) 얎ा땍渷यकता
2) रखेीय काय絿狁燔뮴म
3) 燔뮴㖺䝼ड़ा ︅ᐡस䍚ातं
4) कतार ︅ᐡस䍚ातं

Ques # :76

The game theory propounded by :
1) John von
2) Erving
3) Henry
4) Dantzig

खले ︅ᐡस䍚ातं 얎땍渷तपा鰋沽दत ꡶圷कया गया ­
1) जॉन वान
2) इरꦜ煜वगं
3) हनेर㑃ዕ
4) डा鰋沽टक

Ques # :77
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Minimax refers to the value which is minimum of maximum value of a :
1) Pay off matrix
2) Row
3) Column
4) Game

ᄉऌयनूा㲳滐धक ____ के अ㲳滐धकतम म拞य鿳汙 मᗿ侫 ᄉऌयनूतम म拞य स ेस贖증बिᄉऌधत ह ै­
1) आ彷ꭢयकु㖺䝼
2) पिं腳럿त
3) कॉलम
4) खले

Ques # :78

The course of action adopted by the competitor of the game is known as :
1) Game
2) Player
3) Play
4) Competitor

燔뮴㖺䝼ड़ा मᗿ侫 भाग लने ेवाल े얎땍渷तयो㲳滐गय鿳汙 के 厢倰वारा िजस काय絿狁वाह㑃ዕ को अपनाया जाता ह ैउस ेजाना जाता ह ै:
1) 燔뮴㖺䝼ड़ा
2) 뺼鏟खलाड़ी
3) खले
4) 얎땍渷तयोगी

Ques # :79

Critical path indicates the _____ possible time for the completion of a project.
1) Minimum
2) Reasonable
3) Maximum
4) Sufficient

燔뮴ा땍渷तपथ ꡶圷कसी परयोजना को पणू絿狁 करन ेके ︅ᐡलय े______ आव痵䆁यक सभंाꦜ煜वत समय का सकंेत करता ह ै­
1) ᄉऌयनूतम
2) उ㲳滐चत
3) अ㲳滐धकतम
4) पया絿狁ᵤ�त

Ques # :80

Dummy activity is that activity performed :
1) Before an activity
2) After an activity
3) Along with other activity
4) Without time determination

डमी ꡶圷燔뮴या एक ऐसी ꡶圷燔뮴या ह ैजो ____ के स贖증पᄉऌन क㖺䝼 जाती ह ै:
1) ꡶圷कसी ꡶圷燔뮴या के पवू絿狁
2) ꡶圷कसी ꡶圷燔뮴या के बाद
3) 
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꡶圷कसी ꡶圷燔뮴या के साथ
4) 詬बना समय 땍渷नधा絿狁रण

Ques # :81

Node is the _____ event of two or more activities.
1) Beginning
2) Ending
3) In between
4) Any time

नोड दो या दो स ेअ㲳滐धक ꡶圷燔뮴याओ ंक㖺䝼 _____ घटना ह ै:
1) 얎ार︅ंᐡभक
2) समािᵤ�त
3) बीच क㖺䝼
4) ꡶圷कसी भी समय

Ques # :82

Programme and Evaluation Technique was developed by :
1) Navy of United States America
2) Army of United States America
3) Airforce of United States America
4) Defence of United States America

काय絿狁燔뮴म म拞याकंन एव ंसमी丹⒖ा तकनीक का ꦜ煜वकास ꡶圷कया गया ­
1) सयं腳럿त रा�य अमेरका क㖺䝼 नौसनेा 厢倰वारा
2) सयं腳럿त रा�य अमेरका क㖺䝼 सनेा 厢倰वारा
3) सयं腳럿त रा�य अमेरका क㖺䝼 वाय ुशि腳럿त 厢倰वारा
4) सयं腳럿त रा�य अमेरका क㖺䝼 र丹⒖ा 厢倰वारा

Ques # :83

Which of the following cannot be called as a debt Instrument as reffered in financial transactions ?
1) Bonds
2) Loans
3) Stocks
4) Commercial Papers

ꦜ煜व緇玱तीय लनेदने鿳汙 मᗿ侫 उि拞ल뺼鏟खत अनसुार 땍渷न贖증न मᗿ侫 स े꡶圷कस ेऋण उपकरण नह㑃ዕ ंकहा जा सकता ?
1) बॉ築ꅨ짭겤स
2) ऋण
3) शयेर鿳汙
4) 彷ꭢयापारक पᖸൌ

Ques # :84

Which of the following is known as plastic money ?
1) Bearer cheque
2) Credit Cards
3) Demand Drafts
4) Gift cheque
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땍渷न贖증न मᗿ侫 स े꡶圷कस ेᵤ�लािⴵ엍टक म箨ा के 窹㛀प मᗿ侫 जाना जाता ह ै?
1) वाहक चकै
2) 燔뮴뉠휱डट काड絿狁
3) मागं �骮ा쭰結ट
4) उपहार चकै

Ques # :85

Electronic clearing service in Banks can be availed only by :
1) Individuals
2) Corporates
3) Senior Ciizens
4) All of these

ब軂ምक鿳汙 मᗿ侫 इल腳े럿❍�ॉ땍渷नक समाशोधन सवेा केवल के 厢倰वारा :­
1) 彷ꭢयि腳럿तय鿳汙
2) क贖증प땍渷नयां
3) वर娩響ठ नागरक鿳汙
4) इनमᗿ侫 स ेसभी

Ques # :86

The first nationalisation of commercial banks was done on :­
1) 19.07.1969
2) 19.07.1970
3) 19.07.1967
4) 15.08.1967

彷ꭢयापारक ब軂ምक鿳汙 का पहला रा娩響❍�㑃ዕयकरण _____ को ꡶圷कया गया :­
1) 19.07.1969
2) 19.07.1970
3) 19.07.1967
4) 15.08.1967

Ques # :87

RBI was established in 1935 pursuant to recommendation of :­
1) Gorwala committee
2) Talwar Committee
3) The Hilton Young Commission
4) None of these

1935 मᗿ侫 भारतीय रज़व絿狁 ब軂ምक क㖺䝼 ⴵ엍थापना _____ क㖺䝼 ︅ᐡसफारश鿳汙 के अनसुार क㖺䝼 गयी :­
1) गोरवाला स︅ᐡम땍渷त
2) तलवार स︅ᐡम땍渷त
3) 鰋沽ह拞टन यगं कमीशन
4) इनमᗿ侫 स ेकोई नह㑃ዕं

Ques # :88

One rupeenote and all coins are issued by :­
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1) Reserve Bank of India
2) Centeral Governmet
3) Central and State Government
4) All of these

एक 窹㛀पय ेका नोट तथा सभी ︅ᐡस腳럿के ____ 厢倰वारा जार㑃ዕ ꡶圷कय ेजात ेह ै:­
1) भारतीय रज़व絿狁 ब軂ምक
2) कᗿ侫箨 सरकार
3) कᗿ侫箨 तथा रा�य सरकारᗿ侫
4) इनमᗿ侫 स ेसभी

Ques # :89

Banking ombudsman has been constituted under which act ?
1) Banking Regulation Act
2) RBI Act
3) SBI Act
4) All of these

ब軂ም꡶圷कंग लोकपाल का गठन ꡶圷कस अ㲳滐ध땍渷नयम के तहत ꡶圷कया गया ह ै?
1) ब軂ም꡶圷कंग ꦜ煜व땍渷नयमन अ㲳滐ध땍渷नयम
2) RBI अ㲳滐ध땍渷नयम
3) SBI अ㲳滐ध땍渷नयम
4) इनमᗿ侫 स ेसभी

Ques # :90

The WTO was born out of negotiations in which round of the GATT.
1) Tokyo Round
2) Geneva Round
3) Turkey Round
4) Uruguay Round

गटै के कौन स ेराउ築ꅨड मᗿ侫 वाता絿狁 स ेꦜ煜व痵䆁व 彷ꭢयापार सगंठन उ緇玱पᄉऌन हआु था ?
1) टो腳럿यो राउ築ꅨड
2) िजनवेा राउ築ꅨड
3) टक㏮ᰡ राउ築ꅨड
4) उ望秚췹�व ेराउ築ꅨड

Ques # :91

Basel norms which are important regulatory stipulations are meant for which sector ?
1) Micro Finance
2) Insurance
3) Pension Funds
4) Banking

बसैल मापद築ꅨड जो मह緇玱वपणू絿狁 땍渷नयामक शत� ह,ै ꡶圷कस 丹⒖ᖸൌ स ेमतलब रखती ह ै;
1) माइ燔뮴ो ꦜ煜व緇玱त
2) बीमा
3) पᗿ侫शन कोष
4) ब軂ም꡶圷कंग
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Ques # :92

Export ­ Import Bank of India was setup in :­
1) 1982
2) 1983
3) 1992
4) 1994

आयात ­ 땍渷नया絿狁त ब軂ምक ____ मᗿ侫 ⴵ엍थाꦜ煜पत ꡶圷कया गया :­
1) 1982
2) 1983
3) 1992
4) 1994

Ques # :93

What is call money ?
1) Money borrowed or lent for a day.
2) Money borrowed for more than one day but upto 3 days
3) Money borrowed for more than one day but upto 7 days
4) Money borrowed for more than one day but upto 14 days

कॉल म箨ा 腳럿या ह ै?
1) एक 鰋沽दन के ︅ᐡलय ेम箨ा उधार ल㑃ዕ गयी या उधार द㑃ዕ गयी
2) एक 鰋沽दन स ेअ㲳滐धक ल꡶े圷कन तीन 鰋沽दन鿳汙 तक के ︅ᐡलय ेम箨ा उधार ल㑃ዕ गयी
3) एक 鰋沽दन स ेअ㲳滐धक ल꡶े圷कन सात 鰋沽दन鿳汙 तक के ︅ᐡलय ेम箨ा उधार ल㑃ዕ गयी
4) एक 鰋沽दन स ेअ㲳滐धक ल꡶े圷कन 14 鰋沽दन鿳汙 तक के ︅ᐡलय ेम箨ा उधार ल㑃ዕ गयी

Ques # :94

Return on a security consists which of the following ?
1) Dividend
2) Capital gain
3) Both dividend and capital gain
4) None of these

얎땍渷तभ땍渷त पर 얎緇玱याय 땍渷न贖증न मᗿ侫 स े꡶圷कस ेशा︅ᐡमल करता ह ै?
1) लाभाशं
2) पूंजी लाभ
3) लाभाशं तथा पूंजी लाभ दोन鿳汙
4) इनमᗿ侫 स ेकोई नह㑃ዕं

Ques # :95

Which of the following is not considered a money market instrument ?
1) Treasury Bills
2) Shares and Bonds
3) Commercial paper
4) Certificate of deposit

땍渷न贖증ᄉऌम ेस ेकौनसा म箨ा बाज़ार उपकरण नह㑃ዕ ंमाना जाता ?
1) कोषागार ꦜ煜वपᖸൌ
2) अशं तथा बॉ築ꅨड
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3) 彷ꭢयापारक पᖸൌ
4) जमा का 얎माण पᖸൌ

Ques # :96

Which of the following tax is exempted for Mutual Funds ?
1) Income Tax
2) Capital Gain Tax
3) Wealth Tax
4) All of these

पारⴵ엍परक कोष鿳汙 के ︅ᐡलय े땍渷न贖증न मᗿ侫 स ेकौन स ेकर क㖺䝼 छूट द㑃ዕ गयी ह ै?
1) आयकर
2) पूंजी लाभ कर
3) धन कर
4) इनमᗿ侫 स ेसभी

Ques # :97

In financial system reforms, market lots abolished for shares traded in _____ form.
1) Physical
2) Dematerialised
3) Both Physical and Dematerialised
4) None of these

ꦜ煜व緇玱तीय 얎णाल㑃ዕ सधुार鿳汙 मᗿ侫 _____ 窹㛀प मᗿ侫 अशं鿳汙 के कारोबार के ︅ᐡलय ेबाज़ार लॉ鰧㉭स को समाᵤ�त ꡶圷कया गया |
1) भौ땍渷तक
2) डीमटै
3) भौ땍渷तक तथा डीमटै दोन鿳汙
4) इनमᗿ侫 स ेकोई नह㑃ዕं

Ques # :98

In the traditional protfolio construction approach, a portfolio manager considers :
1) Risk
2) Return
3) Risk and Return
4) Risk and capital Gain

परपंरागत पोट絿狁फो︅ᐡलयो 땍渷नमा絿狁ण 箼㋌ि娩響टकोण मᗿ侫, एक पोट絿狁फो︅ᐡलयो 얎बधंक ꦜ煜वचार करता ह ै:
1) जो뺼鏟खम
2) 얎땍渷तफल
3) जो뺼鏟खम तथा 얎땍渷तफल
4) जो뺼鏟खम तथा पूँजी लाभ

Ques # :99

Markowitz model of portfolio theory was developed in :­
1) 1952
2) 1962
3) 1972
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4) 1982

पोट絿狁फो︅ᐡलयो ︅ᐡस䍚ातं का माक闢孌ꦜ煜व鰧㉭ज़ मॉडल ____ मᗿ侫 ꦜ煜वक︅ᐡसत ꡶圷कया गया था :­
1)  1952
2)  1962
3)  1972
4)  1982

Ques # :100

Whic one of the following is not a current liability ?
1) Outstanding expenses
2) Advance Payment
3) Income Tax Payable
4) Bank Overdraft

땍渷न贖증न मᗿ侫 स ेकौनसा चाल ूदा땍渷य緇玱व नह㑃ዕ ंह ै?
1) अद緇玱त 彷ꭢयय
2) अ㲳滐�ꀥम भगुतान
3) दये आयकर
4) ब軂ምक अ㲳滐धꦜ煜वकष絿狁

Ques # :101

If the opening stock is Rs. 58,000, purchase is Rs. 4,84,000 , sales is Rs. 6,40,000 , Gross Profit rate 25 % on
sales, then what will be the stock turnover ration ?
1) 5 times
2) 7 times
3) 8 times
4) 10 times

य鰋沽द 얎ार︅ंᐡभक ⴵ엍कंध 58,000 望秚. ह,ै 燔뮴य 4,84,000 望秚. ह,ै 詬ब燔뮴㖺䝼 6,40,000 望秚. ह,ै सकल लाभ दर 詬ब燔뮴㖺䝼 पर 25% ह,ै तब
ⴵ엍कंध आवत絿狁 अनपुात 腳럿या होगा ?
1) 5 गनुा
2) 7 गनुा
3) 8 गनुा
4) 10 गनुा

Ques # :102

The excess of sales over variable cost is called :
1) Margin of safety
2) Contribution
3) Fixed cost
4) Profit

詬ब燔뮴㖺䝼 का परवत絿狁नशील लागत के ऊपर आ㲳滐ध腳럿य कहलाता ह ै:­
1) सरु丹⒖ा क㖺䝼 सीमा
2) अशंदान
3) िⴵ엍थर लागत
4) लाभ
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Ques # :103

Which one of the following is not the example of Intangible Assets ?
1) Goodwill
2) Copyright
3) Trade mark
4) Preliminary expenses

땍渷न贖증न मᗿ侫 स ेकौनसा अमतू絿狁 सपंि緇玱तय鿳汙 का उदाहरण नह㑃ዕ ंह ै?
1) 밆콟या땍渷त
2) कॉपीराइट
3) ❍�डेमाक絿狁
4) 얎ार︅ंᐡभक 彷ꭢयय

Ques # :104

ABC analysis technique is related to :
1) Ratio Analysis
2) Inventory Analysis
3) Trend Analysis
4) Funds Flow Analysis

एबीसी ꦜ煜व痵䆁लषेण तकनीक ____ स ेसबं㲳滐धत ह ै:
1) अनपुात ꦜ煜व痵䆁लषेण
2) ⴵ엍कंध ꦜ煜व痵䆁लषेण
3) 얎विृ緇玱त ꦜ煜व痵䆁लषेण
4) कोष 얎वाह ꦜ煜व痵䆁लषेण

Ques # :105

Margin of saftey is :
1) Projected sales ­ Actual sales
2) BEP sales ­ Projected sales
3) Actual sales ­ BEP sales
4) Actual sales ­ Cost of goods sold

सरु丹⒖ा क㖺䝼 सीमा ह ै:­
1) 얎丹⒖ꦜ煜पत 詬ब燔뮴㖺䝼 ­ वाⴵ엍तꦜ煜वक 詬ब燔뮴㖺䝼
2) सम­ ꦜ煜व⹻ฮछदे 詬ब燔뮴㖺䝼 ­ 얎丹⒖ꦜ煜पत 詬ब燔뮴㖺䝼
3) वाⴵ엍तꦜ煜वक 詬ब燔뮴㖺䝼 ­ सम­ ꦜ煜व⹻ฮछदे 詬ब燔뮴㖺䝼
4) वाⴵ엍तꦜ煜वक 詬ब燔뮴㖺䝼 ­ बचे ेगए माल क㖺䝼 लागत

Ques # :106

What will be the affect of rise in price per unit on BEP, if other things remain same ?
1) BEP will increase
2) BEP will decrease
3) BEP will remain the same
4) None of these

얎땍渷त ईकाई म拞य मᗿ侫 वꦜ煜䍚 का सम ­ ꦜ煜व⹻ฮछदे 詬बदं ुपर 腳럿या 얎भाव होगा, य鰋沽द अᄉऌय बातᗿ侫 समान रहती ह ै?
1) सम ­ ꦜ煜व⹻ฮछदे 詬बᄉऌद ुबढ़ जायगेा
2) सम ­ ꦜ煜व⹻ฮछदे 詬बᄉऌद ुघट जायगेा
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3) सम ­ ꦜ煜व⹻ฮछदे 詬बᄉऌद ुसमान रहगेा
4) इनमᗿ侫 स ेकोई नह㑃ዕं

Ques # :107

When the current ration is 2 : 5 and the amount of current liabilities is Rs. 25,000 , what is the amount of
current assets ?
1) Rs. 62,500
2) Rs. 12,500
3) Rs. 10,000
4) Rs. 5,000

जब चाल ूअनपुात 2 : 5 ह ैतथा चाल ूदा땍渷य緇玱व鿳汙 क㖺䝼 राशी 25,000 望秚. ह,ै चाल ूस贖증प땍渷तय鿳汙 क㖺䝼 रा︅ᐡश 腳럿या ह ै?
1) Rs. 62,500
2) Rs. 12,500
3) Rs. 10,000
4) Rs. 5,000

Ques # :108

Profitability Index is the ratio of :
1) Initial Investment to Present value of cash Inflows
2) Present value of cash Inflows to Initial Investment
3) Initial Investment to Average cash Inflows
4) Project's Average Profit after tax to Initial Investment in Project

लाभदायकता सचूकाकं अनपुात ह ै:
1) 얎ार︅ंᐡभक 땍渷नवशे स ेरोकड़ अᄉऌतावा絿狁ह鿳汙 का वत絿狁मान म拞य
2) रोकड़ अᄉऌतावा絿狁ह鿳汙 का वत絿狁मान म拞य स े얎ार︅ंᐡभक 땍渷नवशे
3) 얎ार︅ंᐡभक 땍渷नवशे स ेऔसत रोकड़ अᄉऌतावा絿狁ह鿳汙
4) कर प痵䆁चात ्परयोजना के औसत लाभ स ेपरयोजना मᗿ侫 얎ार︅ंᐡभक 땍渷नवशे

Ques # :109

Marginal cost equation is :­
1) S ­ V = F + P
2) S + V = F ­ P
3) S ­ V = F ­ P
4) S + V = F + P

सीमातं लागत समीकरण ह ै:­
1) S ­ V = F + P
2) S + V = F ­ P
3) S ­ V = F ­ P
4) S + V = F + P

Ques # :110

Annual consumption of material 50,000 units, cost of processing an order is Rs. 20 and carrying cost per unit
is 50 paise per year, then what will be EOQ ?
1) 40,000 units
2) 2,000 units
3) 1,000 units
4) 500 units
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सामा�ꀥी का वाꦜ煜ष絿狁क उपभोग 50,000 इकाईया,ं एक आदशे दने ेक㖺䝼 लागत 20 窹㛀पय ेतथा 얎땍渷त इकाई रख­रखाव
लागत 50 पसैा 얎땍渷तवष絿狁 ह,ै तब आ㲳滐थ絿狁क आदशे माᖸൌा 腳럿या होगी ?
1) 40,000 इकाइयां
2) 2,000 इकाइयां
3) 1,000 इकाइयां
4) 500 इकाइयां

Ques # :111

Which of the following budget is a consolidated summary of all the functional budget ?
1) Master
2) Sales
3) Production
4) Cash

땍渷न贖증न︅ᐡल뺼鏟खत बजट鿳汙 मᗿ侫 स ेकौनसा सभी ꡶圷燔뮴या緇玱मक बजट鿳汙 का एक सम꡶े圷कत साराशं ह ै?
1) माⴵ엍टर
2)  ꦜ煜व燔뮴य
3)  उ緇玱पादन
4)  रोकड़

Ques # :112

What are the limits of the correlation coefficient ?
1) No limit
2) ­ 1 and 1
3) 0 and 1, including the limits
4) ­1 and 1, including the limits

सहसबंधं गणुाकं क㖺䝼 सीमायᗿ侫 腳럿या ह ै?
1) कोई सीमा नह㑃ዕं
2) ­1 तथा 1
3) 0 तथा 1, सीमाओ ंस鰋沽हत
4) ­1 तथा 1, सीमाओ ंस鰋沽हत

Ques # :113

The two lines of regression become identical when :
1) r = 1
2) r = ­1
3) r = 0
4) r = 1 or r = ­1

얎तीपगमन क㖺䝼 दोन鿳汙 रखेायᗿ侫 समान हो जाती ह,ै जब
1) r = 1
2) r = ­1
3) r = 0
4) r = 1 या r = ­1

Ques # :114

Given the regression equation as 3x + y = 13 and 2x + 5y = 20, which one is the regression equation of y on x
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?
1) 1st equation
2) 2nd equation
3) Both 1st equation and 2nd equation
4) None of these

3x + y = 13 तथा 2x + 5y = 20 के 窹㛀प मᗿ侫 얎तीपगमन समीकरण 鰋沽दय ेगय ेह,ै कौन सा x पर y का 얎तीपगमन
समीकरण ह ै?
1) पहला समीकरण
2) दसूरा समीकरण
3) पहला समीकरण तथा दसूरा समीकरण दोन鿳汙
4) इनमᗿ侫 स ेकोई नह㑃ዕं

Ques # :115

If two events A and B are independent, then
1) They can be mutually exclusive
2) They cannot be mutually exclusive
3) They cannot be exhaustive
4) Both, They cannot be mutually exclusive and They cannot be exhaustive

य鰋沽द दो घटनायᗿ侫 A तथा B ⴵ엍वतᖸൌ ह,ै तब
1) य ेपरⴵ엍पर अपवजⵇ⯭ हो सकती है
2) य ेपरⴵ엍पर अपवजⵇ⯭ नह㑃ዕ ंहो सकती है
3) य ेस贖증पणू絿狁 नह㑃ዕ ंहो सकती है
4) य ेपरⴵ엍पर अपवजⵇ⯭ नह㑃ዕ ंहो सकती ह ैतथा य ेस贖증पणू絿狁 नह㑃ዕ ंहो सकती ह ैदोन鿳汙

Ques # :116

A bag contains 12 balls which are numbered from 1 to 12. If a ball is selected at random, what is the
probability that the number of ball will be a multiple of 5 or 6 ?
1) 0.30
2) 0.25
3) 0.20
4) 1/3

एक थलै ेमᗿ侫 12 गᗿ侫द ेह,ै िजन पर 1 स े12 तक न贖증बर 鰋沽दय ेगय ेह,ै य鰋沽द या箼㋌ि⹻ฮछक 窹㛀प स ेएक गᗿ侫द चनुी जाती ह,ै 腳럿या
얎ा땍渷यकता ह ैक㖺䝼 गᗿ侫द क㖺䝼 स밆콟या 5 या 6 गणुक मᗿ侫 होगी ?
1)  0.30
2)  0.25
3)  0.20
4)  1/3

Ques # :117

A number is selected from the first 25 natural numbers. What is the probability that it would be divisible by 4
or 7 ?
1) 9/25
2) 11/25
3) 9/625
4) 11/625

पहल㑃ዕ 25 प얎ाकृ땍渷तक स밆콟याओ ंस ेएक स밆콟या का चनुाव ꡶圷कया गया, 腳럿या 얎ा땍渷यकता ह ैक㖺䝼 यह 4 या 7 स ेꦜ煜वभािज
होगी ?
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1) 9/25
2) 11/25
3) 9/625
4) 11/625

Ques # :118

In normal distribution mean, median and mode are :
1) Zero
2) Not equal
3) Equal
4) None of these

सामाᄉऌय ꦜ煜वतरण मᗿ侫 मा㉎쎀य, म㉎쎀यका तथा बहलुक ह ै:­
1) शᄉऌय
2) समान नह㑃ዕं
3) समान
4) इनमᗿ侫 स ेकोई नह㑃ዕं

Ques # :119

If S.D. = 20 and sample size is 100, then standard error of mean is :
1) 2
2) 5
3) 1/5
4) None of these

य鰋沽द S. D. = 20 तथा 얎땍渷तदश絿狁 आकार 100 ह ैतब मा㉎쎀य क㖺䝼 얎माप ᖸൌ鰋沽ट ह ै:
1) 2
2) 5
3) 1/5
4) इनमᗿ侫 स ेकोई नह㑃ዕं

Ques # :120

If the price of all commodities in a place have increased 1.25 times in comparison to the base period, the index
number of prices of that place is now :
1) 125
2) 150
3) 225
4) None of these

य鰋沽द एक ⴵ엍थान मᗿ侫 सभी वⴵ엍तओु ंका म拞य आधार वष絿狁 क㖺䝼 तलुना मᗿ侫 1.25 गनुा बढ़ जाती ह,ै अब उस ⴵ엍थान के म拞य鿳汙
का सचूकाकं ह ै:
1) 125
2) 150
3) 225
4) इनमᗿ侫 स ेकोई नह㑃ዕं

Ques # :121

Linear Programming was developed by :­
1) George B. Dantzig
2) T. C. Koopans
3) J. V. Neuman
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4) Oscar Margenstern

रखेीय 얎ो�ꀥा︅ᐡमगं _____ 厢倰वारा ꦜ煜वक︅ᐡसत क㖺䝼 गयी थी :­
1) जॉज絿狁 बी. डᗿ侫टािजगं
2) ट㑃ዕ. सी. कूपᄉऌस
3) ज.े वी. ᄉऌयमूनै
4) ऑⴵ엍कर मोरगⴵे엍टन絿狁

Ques # :122

Main sources of hypothesis construction is :­
1) General Traits
2) Analogies
3) Personal experiances
4) All of these

परक拞पना 땍渷नमा絿狁ण के 얎मखु ⴵ엍ᖸൌोत ह ै:­
1) सामाᄉऌय सⴵ엍कृ땍渷त
2) सम窹㛀पताऐं
3) 彷ꭢयि腳럿तगत अनभुव
4) इनमᗿ侫 स ेसभी

Ques # :123

Game Theory helps to understand the behaviour of firms :
1) That are strategically independent
2) That are strategically interdependent
3) That do not face any competition
4) That are not profit maximization

燔뮴㖺䝼ड़ा ︅ᐡस䍚ातं फाम鿝� का आचरण समझन ेमᗿ侫 सहायक ह ै:­
1) व ेरणनी땍渷तक 窹㛀प स ेⴵ엍वतᖸൌ है
2) व ेरणनी땍渷तक 窹㛀प स ेपरⴵ엍पर 땍渷नभ絿狁र है
3) व ेकोई भी 얎땍渷तयो㲳滐गता का सामना नह㑃ዕ ंकरते
4) व ेलाभ अ㲳滐धकतमीकरण नह㑃ዕ ंहै

Ques # :124

An index number is used :­
1) To measure changes in quantity
2) To measure changes in demand
3) To measure changes in price
4) To measure changes in variable over time

सचुकाकं उपयोग ꡶圷कया जाता ह ै:
1) माᖸൌा मᗿ侫 परवत絿狁न मापन ेको
2) मागँ मᗿ侫 परवत絿狁न मापन ेको
3) म拞य मᗿ侫 परवत絿狁न मापन ेको
4) समयोपर चर鿳汙 मᗿ侫 परवत絿狁न मापन ेको

Ques # :125
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How many local boards of RBI are there ?
1) 4
2) 5
3) 6
4) 3

रज़व絿狁 ब軂ምक के ꡶圷कतन ेⴵ엍थानीय म築ꅨडल होत ेह ै?
1)  4
2)  5
3)  6
4)  3

Ques # :126

Which of the following Acts not administerd by the RBI ?
1) Banking Regulation Act
2) Government Securities Regulation Act
3) Foreign Exchange Management Act
4) Depositories Act

땍渷न贖증न︅ᐡल뺼鏟खत अ㲳滐ध땍渷नयम鿳汙 मᗿ侫 स ेकौनसा रज़व絿狁 ब軂ምक 厢倰वारा 얎शा︅ᐡसत नह㑃ዕ ंह ै?
1) ब軂ም꡶圷कंग 땍渷नयमन अ㲳滐ध땍渷नयम
2) सरकार㑃ዕ 얎땍渷तभ땍渷त 땍渷नयमन अ㲳滐ध땍渷नयम
3) ꦜ煜वदशेी ꦜ煜व땍渷नमय 얎बᄉऌध अ㲳滐ध땍渷नयम
4) 뉠휱डपोजटर㑃ዕ अ㲳滐ध땍渷नयम

Ques # :127

How much is the repo ­ rate as on 31st March 2016 ?
1) 6.75 %
2) 5.75 %
3) 7.75 %
4) 8.75 %

31 माच絿狁 2016 को रपो रटे ꡶圷कतनी थी ?
1) 6.75 %
2) 5.75 %
3) 7.75 %
4) 8.75 %

Ques # :128

Which of the following was the first financial institution in India for industrial finance ?
1) ICICI
2) IFCI
3) SIDB
4) SFCs

औ厢倰यो㲳滐गक ꦜ煜व緇玱त के ︅ᐡलय ेभारत मᗿ侫 땍渷न贖증न︅ᐡल뺼鏟खत मᗿ侫 स ेकौनसी 얎थम ꦜ煜व緇玱तीय सⴵ엍था थी ?
1) औ厢倰यो㲳滐गक साख एव ंꦜ煜व땍渷नयोग 땍渷नगम
2) भारतीय औ厢倰यो㲳滐गक ꦜ煜व緇玱त 땍渷नगम
3) लघ ुउ厢倰योग ꦜ煜वकास बोड絿狁
4) रा�य ꦜ煜व緇玱त 땍渷नगमᗿ侫



24/06/2016 College Lecturer Exam ­ Economic Admn And Finance Management­II

_ 36/41

Ques # :129

Which of the following was India's first mutual fund ?
1) PNB mutual fund
2) BOI mutual fund
3) SBI mutual fund
4) Unit trust of India

भारत मᗿ侫 땍渷न贖증न︅ᐡल뺼鏟खत मᗿ侫 स ेकौनसा 얎थम 贖증य⹻ฮयअूल फ築ꅨड था ?
1) पजंाब नशेनल ब軂ምक 贖증य⹻ฮयअूल फ築ꅨड
2) ब軂ምक ऑफ़ इि築ꅨडया 贖증य⹻ฮयअूल फ築ꅨड
3) ⴵ엍टटे ब軂ምक ऑफ़ इि築ꅨडया 贖증य⹻ฮयअूल फ築ꅨड
4) भारतीय ईकाई 얎ᄉऌयास म築ꅨडल

Ques # :130

When the GATT come into being ?
1) 1948
2) 1949
3) 1947
4) 1951

गटै कब अिⴵ엍त緇玱व मᗿ侫 आया ?
1) 1948
2) 1949
3) 1947
4) 1951

Ques # :131

External Commercial borrowings are administerd by :­
1) Commercial Banks
2) Enforcement Directrate
3) Reserve Bank of India
4) Ministry of External Trade

बाहर㑃ዕ 彷ꭢयापारक ऋण का 얎बधंन ꡶圷कया जाता ह ै:­
1) 彷ꭢयापारक ब軂ምक鿳汙 厢倰वारा
2) 얎वत絿狁न 땍渷नदशेालय 厢倰वारा
3) रज़व絿狁 ब軂ምक 厢倰वारा
4) ꦜ煜वदशेी 彷ꭢयापार मᖸൌालय 厢倰वारा

Ques # :132

Current account, as a part of overall balance of payment, does not take into account :­
1) Merchandise
2) Invisibles
3) Foreign Direct Investment
4) Insurance

सम�ꀥ भगुतान सतंलुन स ेभाग के 窹㛀प मᗿ侫 चाल ूखात ेमᗿ侫 कौनसी मद मᗿ侫 सि贖증म︅ᐡलत नह㑃ዕ ंह ै:­
1) 彷ꭢयापारक वⴵ엍तएुं
2) अ箼㋌痵䆁य मदᗿ侫
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3) 얎緇玱य丹⒖ ꦜ煜वदशेी ꦜ煜व땍渷नयोग
4) बीमा

Ques # :133

Netting helps in :
1) Reduction in transaction cost
2) Reduction in Cash requirement
3) Better control of subsidiaris
4) Reduction in interest cost

न鰋े沽टगं स ेसहायता ︅ᐡमलती ह ै:­
1) लनेदने लागत मᗿ侫 कमी करन ेमᗿ侫
2) नगद㑃ዕ क㖺䝼 आव痵䆁यकता मᗿ侫
3) सहायक क贖증प땍渷नय鿳汙 के बहेतर 땍渷नयᖸൌण मᗿ侫
4) 邧ﾆयाज लागत मᗿ侫 कमी करन ेमᗿ侫

Ques # :134

An inverted yield curve is considered to be sign of :
1) Economic boom
2) Economic recession
3) Economic stagnation
4) None of these

ꦜ煜वपर㑃ዕत 얎땍渷तफल व燔뮴 पहचान मानी जाती ह ै:­
1) आ㲳滐थ絿狁क सवंꦜ煜䍚
2) आ㲳滐थ絿狁क मदं㑃ዕ
3) आ㲳滐थ絿狁क अिⴵ엍थरता
4) इनमᗿ侫 स ेकोई नह㑃ዕं

Ques # :135

When the securities plotted above the security market line are considered to be :
1) Overpriced
2) Underpriced
3) Aggressive
4) Defensive

얎땍渷तभ땍渷त बाज़ार रखेा स ेऊपर 얎땍渷तभ땍渷तय鿳汙 के 㲳滐चᖸൌण का अ︅ᐡभ얎ाय ह ै:­
1) अ㲳滐धम拞या꡶圷कत
2) अधोम拞या꡶圷कत
3) आ燔뮴ामक
4) सरु丹⒖ा緇玱मक

Ques # :136

The extreme form of efficient market hypothesis is ;
1) Weak form
2) Superstrong form
3) Strong form
4) Semi­strong form
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कुशल बाज़ार परक拞पना का अ땍渷त窹㛀प है
1) 땍渷नब絿狁ल 窹㛀प
2) अ땍渷तस箼㋌ढ़ 窹㛀प
3) स箼㋌ढ़ 窹㛀प
4) अ䍚絿狁स箼㋌ढ़ 窹㛀प

Ques # :137

SEBI's main objective is :
1) To protect the interest of investors
2) To operate stock exchange
3) To decide the price of stocks in stock exchange
4) To manage stock brokerage firms

सबेी का म밆콟य उ⃒넕痵䆁य ह ै:­
1) ꦜ煜व땍渷नयोगकता絿狁ओ ंके 鰋沽हत鿳汙 को सरु峮쵞丹⒖त करना
2) ⴵ엍कᄉऌध ꦜ煜व땍渷नमय鿳汙 का सचंालन
3) ⴵ엍कᄉऌध ꦜ煜व땍渷नमय鿳汙 मᗿ侫 अशं क㖺䝼 क㖺䝼मत 땍渷नधा絿狁रण करना
4) ⴵ엍कᄉऌध दलाल फम鿝� का 얎बधंन करना

Ques # :138

Which authority regulates stock exchange ?
1) Ministry of finance
2) RBI
3) SEBI
4) NSDL

कौनसा 얎ा㲳滐धकरण ꦜ煜व땍渷नमय鿳汙 का 땍渷नयमन करता ह ै?
1) ꦜ煜व緇玱त मᖸൌालय
2) रज़व絿狁 ब軂ምक ऑफ़ इि築ꅨडया
3) सबेी
4) नशेनल ︅ᐡस腳럿यरट㑃ዕ 뉠휱डपोजटर㑃ዕ ︅ᐡल.

Ques # :139

The main objective of financial management is :
1) Sales maximization
2) Profit maximization
3) Wealth maximization
4) Production maximization

ꦜ煜व緇玱तीय 얎बᄉऌध का म밆콟य उद痵े䆁य ह ै:
1) ꦜ煜व燔뮴य को अ㲳滐धकतम करना
2) लाभ को अ㲳滐धकतम करना
3) सपंि緇玱त को अ㲳滐धकतम करना
4) उ緇玱पादन को अ㲳滐धकतम करना

Ques # :140
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If the internal rate of return (IRR) is greater than required rate of return, the project will be :
1) Accepted
2) Rejected
3) No decision will be made
4) Put on hold

आᄉऌतरक 얎緇玱यायदर जब वा땍渷छत 얎緇玱यायदर स ेअ㲳滐धक होगी तब परयोजना :­
1) ⴵ엍वीकार क㖺䝼 जायगेी
2) 땍渷नरⴵ엍त क㖺䝼 जायगेी
3) कोई 땍渷नण絿狁य नह㑃ዕ ंहोगा
4) यथा िⴵ엍थ땍渷त का 땍渷नण絿狁य

Ques # :141

In aggressive working apital model, the size of working capital is :
1) Very high
2) Very low
3) Moderate
4) None of these

आ燔뮴मक काय絿狁शील पूँजी मॉडल मᗿ侫 काय絿狁शील पूँजी का आकार होगा :
1) अ㲳滐धक ऊँचा
2) अ㲳滐धक 땍渷नचा
3) सामाᄉऌय
4) इनमᗿ侫 स ेकोई नह㑃ዕं

Ques # :142

One of the following does not affect the determination of working capital :
1) Credit policy
2) Availability of raw material
3) Inflation
4) Operating cycle

땍渷न贖증न मᗿ侫 स ेकोई एक काय絿狁शील पूँजी का 땍渷नधा絿狁रक नह㑃ዕ ंह ै:­
1) साख नी땍渷त
2) क⹻ฮच ेमाल क㖺䝼 उपल邧ﾆधता
3) म箨ा प얎सार
4) परचालन च燔뮴

Ques # :143

Calculate operating leverage from following information : Sales Rs. 80,00,000 Variable Cost Rs. 40,00,000
Fixed Cost Rs. 5,00,000 Borrowed Capital Rs. 40,00,000 @ 10% p.a.
1) 2.00
2) 1.00
3) 1.14
4) 1.28

땍渷न贖증न︅ᐡल뺼鏟खत सचुना स ेपरचालन उ緇玱तोलक ꮚ齃ात क㖺䝼िजय े:­ ꦜ煜व燔뮴य 80,00,000 窹㛀पय ेपरवत絿狁नशील लागत
40,00,000 窹㛀पय ेिⴵ엍थर लागत 5,00,000 ऋण पूँजी 40,00,000 10% 얎땍渷त वष絿狁 邧ﾆयाज पर
1)  2.00
2)  1.00
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3)  1.14
4)  1.28

Ques # :144

If current ration is 5 : 2 and current liabilities are Rs. 200,000. How much is current assets ?
1) 14,00,000
2) 7,00,000
3) 5,00,000
4) 8,00,000

य鰋沽द चाल ूअनपुात 5 : 2 ह ैतथा चाल ूदा땍渷य緇玱व 2,00,000 窹㛀पय ेह ैतो चाल ूस贖증प땍渷त होगी :­
1) 14,00,000
2) 7,00,000
3) 5,00,000
4) 8,00,000

Ques # :145

Gross Profit is Rs. 80,000; Gross Profit Inventory ratio is 25 %. Calculate sales :
1) Rs. 200,000
2) Rs. 3,50,000
3) Rs. 400,000
4) Rs. 3,20,000

सकल लाभ ह ै80,000 窹㛀पय,े सकल लाभ एव ंइनवᄉेऌटर㑃ዕ अनपुात ह ै25 %. ꦜ煜व燔뮴य ꮚ齃ात क㖺䝼िजय े:
1) Rs. 200,000
2) Rs. 3,50,000
3) Rs. 400,000
4) Rs. 3,20,000

Ques # :146

An increase in working capital is considered as :­
1) Application of funds
2) Sources of funds
3) No impact on source / application
4) It is merely a transfer of funds offsetting

काय絿狁शील पूँजी मᗿ侫 वꦜ煜䍚 का अ︅ᐡभ얎ाय होगा :
1) कोष鿳汙 का उपभोग
2) कोष鿳汙 का ⴵ엍ᖸൌोत
3) उपभोग एव ंⴵ엍ᖸൌोत पर कोई 얎भाव नह㑃ዕं
4) यह केवल कोष鿳汙 का 땍渷नरⴵ엍तकार㑃ዕ हⴵ엍ताᄉऌतरण है

Ques # :147

Funds flow analysis helps in following :
1) Sources and Application of funds
2) Funds received or lost in operations
3) About preparation of Budget
4) All of these

कोष 얎वाह ꦜ煜व痵䆁लषेण स ेजानन ेमᗿ侫 मदद ︅ᐡमलती ह ै:
1) कोष鿳汙 के ⴵ엍ᖸൌोत एव ंउपभोग
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2) ⴵ엍ᖸൌोत क㖺䝼 얎ािᵤ�त अथवा काय絿狁 मᗿ侫 समािᵤ�त
3) बजट 땍渷नमा絿狁ण मᗿ侫
4) इनमᗿ侫 स ेसभी

Ques # :148

Assume : Sales Rs. 40,000 Fixed overhead Rs. 10,000 Find out marginal cost if profit is planned at Rs. 5000.
1) Rs. 25,000
2) Rs. 30,000
3) Rs. 15,000
4) Rs. 50,000

मान लो : ꦜ煜व燔뮴य 40,000 窹㛀पय ेⴵ엍थायी उपर彷ꭢयय 10,000 窹㛀पय े땍渷नयोिजत लाभ 5,000 窹㛀पय ेतब सीमाᄉऌत लागात
होगी.
1) Rs. 25,000
2) Rs. 30,000
3) Rs. 15,000
4) Rs. 50,000

Ques # :149

There is an increase in sales from Rs. 20 lakh to Rs. 30 lakhs and increase in profit from Rs. 2 lakh to Rs. 4
lakhs. What P/V ratio ?
1) 10 %
2) 30%
3) 20 %
4) 11.5 %

य鰋沽द ꦜ煜व燔뮴य Rs. 20 लाख स ेबढ़कर Rs. 30 लाख हो; लाभ 2 लाख स ेबढ़कर 4 लाख हो तो लाभ माᖸൌा अनपुात होगा
?
1) 10 %
2) 30%
3) 20 %
4) 11.5 %

Ques # :150

Issue of Bonus shares results into :
1) Change in ownership percentage
2) Change in Assets
3) Increase in number of shares outstanding
4) Non ­ cpaitalization of reserves

बोनस अशंो के 땍渷नग絿狁मन का परणाम होगा :
1) ⴵ엍वा︅ᐡम緇玱व 얎땍渷तशत मᗿ侫 परवत絿狁न
2) स贖증प땍渷तय鿳汙 मᗿ侫 परवत絿狁न
3) अशं鿳汙 क㖺䝼 स밆콟या मᗿ侫 वꦜ煜䍚
4) कोष鿳汙 का गरै पूंजीकरण




